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Ups

Vs =

l Vs

V,=04V.k, = 4mA/V’
Vos = 065 V. Vpp = 18 V.
Ry, = 8 kQ (Vyy=0.25V)
@1, = %k"vmf = 125 pA
Vps = Vpp— IpRp = 0.8V.
b)g, = k,Voy = 1 mS

() Ay = —g,Rp = —80

(d) for X\

=
()—)‘ID

0.1V

V

80 kQ

Ay = —gu(ry IRy = =73

572 |v| = 0.5 V. peak R, = 50 kQ

Vop = 18 V. Ay = 5



579 V, = 1V, k, = = = 2 mA/V?

~I=

(a) dc analysis Vg, = % 15 V,= 5V, assume
Ip = 1 mA
Ve =3V,Vgs =2V, V,, = 1V.

Iy = %k'v(z)v = 1 mA (check)

Vp = Vpp—IpRp = 7.5V.

8m = A2k, i, = 2 mS

(c)

Ry -'_> G

U

(AR, = Rz = 333 MQ

Zo = R _ g9
Vsig R.tig +R;,

= _gm(’o"Rn"RL) = —82

— = —80



